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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2012 C L«X, 2013 

a]ÁL◊[˝VÓÁ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

◊•Tˆ›Ã^ Yy ( 2nd Paper : Indian Society ) 
a]Ã^  f ªªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L G–Á] C XGÃ[˝L›[˝„XÃ[˝ W˝ÁÃ[˝Á[˝Á◊c˜EıTˆÁ 
a∂ëˆ„μ˘ ◊[˝ÿôˆÁ◊Ã[˝Tˆ ◊_F«X* 

 (F) ◊c˜≥V« Â^ÏU Y◊Ã[˝[˝Á„Ã[˝Ã[˝ È[˝◊`‰rÙÓÃ[˝ =‰{F EıÃ[˝”X* Ac˜O 
Y“a„Ü \ˆÁÃ[˝Tˆ›Ã^ ◊c˜≥V« Â^ÏU Y◊Ã[˝[˝Á„Ã[˝ \ˆÁI¯„XÃ[˝ EıÁÃ[˝S 
C Y“[˝STˆÁ a∂ëˆ„μ˘ ◊[˝ÿôˆÁ◊Ã[˝Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (G) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L LÁTˆYÁTˆ C Ã[˝ÁLX›◊TˆÃ[˝ ]„W˝Ó a+EÔı 
◊Eı\ˆÁ„[˝ G‰QÕˆ =‰Pˆ‰ªK˜ TˆÁ ◊[˝`V EıÃ[˝”X* 

 (H) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L Y◊Ã[˝[˝Tˆ¤„XÃ[˝ Y“◊y‘Ã^Á ◊c˜aÁ„[˝ 
aeï ıTˆEıÃ[˝S a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X*  

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L LÁTˆÁYÁTˆGTˆ C W˝]fiÃ^ È[˝◊ªJÙyÓ a∂ëˆ„μ˘ 

ªRÙO›EıÁ ◊_F«X* 
(F) \ˆÁÃ[˝Tˆ›Ã^ G–Á„]Ã[˝ È[˝◊`rÙÓ C YÁÃ[˝&◊Ã[˝Eı ◊X\ˆ¤Ã[˝`›_TˆÁ 

Y“a„Ü ^Á LÁ„XX ◊_F«X* 
(G) aÁ]Á◊LEı›EıÃ[˝„S Y◊Ã[˝[˝Á„Ã[˝Ã[˝ \…ˆ◊]EıÁ a∂ëˆ„μ˘ ◊[˝ÿôˆÁ◊Ã[˝Tˆ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 
(H) ◊[˝[˝Á„c˜Ã[˝ Y“EıÁÃ[˝„\ˆV a+„EÔı˝ AEı◊ªRÙO ªRÙO›EıÁ ◊_F«X*ı 
(I¯) p˚Á◊Tˆ a+EÔı EıÁ„Eı [˝„_ ? p˚Á◊Tˆ a+„EÔıÃ[˝ Y“ªJÙ◊_Tˆ 

Y◊Ã[˝\ˆÁbÁÃ[˝ AEı◊ªRÙO ae◊l˘ä Y◊Ã[˝ªJÙÃ^ ◊VX* 
(ªªJÙ˜) W˝]Ô C a]Á„LÃ[˝ ]„W˝Ó a+EÔı Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 
(Eı) %YÃ[˝ÁW˝ ◊Eı ? ◊Eı„`ÁÃ[˝ %YÃ[˝ÁW˝ \ˆÁÃ[˝Tˆ›Ã^ a]Á„L ÂEıX 

H‰ªRÙO ? 
(F) YÁ∏JÙÁTˆÓ C \ˆÁÃ[˝Tˆ›Ã^ a]Á„L ◊_Ü-È[˝b„]ÓÃ[˝ YªRÙO\…ˆ◊] 

◊Eı ? 
(G) aÁ]Á◊LEı Y◊Ã[˝[˝Tˆ¤„X Y◊Ã[˝„[˝`[˝ÁV› %Á„≥VÁ_„XÃ[˝    

mÃ[˝”±ºˆ ◊Eı ? 
(H) =YLÁ◊Tˆ W˝„]ÔÃ[˝ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? 
(I¯) M«ı]-ªJÙÁb EıÁ„Eı [˝„_ ? 
(ªJÙ) \ˆÁÃ[˝„Tˆ E ı◊b◊\ˆ◊w¯Eı Ê`“◊Sm◊_ ◊Eı ◊Eı ? 
(ªK˜) Y“\ˆÁ[˝`Á_› LÁTˆ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? 
(L) EıXÓÁYS C [˝Ã[˝Y„SÃ[˝ ]„W˝Ó YÁUÔEıÓ ÂEıÁUÁÃ^ ? 
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1. Answer any two questions : 20 × 2 = 40 

(a) Elaborately write on the continuity between 

urban and rural life in Indian Society. 

(b) Mention the characteristics of Hindu joint 

family. In this context discuss the causes 

and trends of breakdown of Indian joint 

family. 

(c) Elaborate on the growth of relationship 

between caste and politics in India.   

(d) Discuss Sanskritization as a process of 

social change in India. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Write a note on the diversities based on 

caste and religion in Indian Society. 

(b) Write what you know about the features of 

Indian villages and their mutual 

dependence.  

(c) Discuss elaborately on the role of family in 

socialization. 

(d) Write a note on the types of marriage.  

(e) What is kinship ? Discuss briefly the 

kinship terminology. 

(f) Examine the relationship between religion 

and society. 

3. Answer any four questions  : 6 × 4 = 24 

(a) What is crime ? Why does juvenile 

delinquency occur in India ? 

(b) What are the conditions of gender-

inequality in Indian and Western societies ? 

(c) What is the importance of environmental 

movements in social change ? 

(d) What are the features of tribal religion ? 

(e) What is 'Jhoom' cultivation ? 

(f) What are the agrarian classes in India ? 

(g) What do you understand by Dominant 

Caste ? 

(h) What are the differences between bride-

price and dowry ? 

    


